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PSG COLLEGE OF ARTS & SCIENCE o e
e o (AUTONOMOUS) | I
o MSc DEGREE EXAMINATION MAY 2023
- (Thlrd Semester) o
Branch BIOCHEMISTRY |
BIOSTATISTICS -
: Ti‘me:-ThreeHours.".f R o Max1mum 50 Marks
R SECTION-A(SMarks)
Answer ALL questions - ST
o ALL questtons carry EQUAL marks o (dx1=5)
Dlagrams and Graphs are tool of | '
(i) Collectiondata (11) Analysrs
- (i) . Presentatlon of data - - (iv) All of these
o Standard deviation is always taken from ---,--—---_-_-'---.‘ .
() Medlan P . (i) Mode ,
| (m) Mean o (1v) None of these
~ How many dependent varlables are used in. multlple regressmn? o
(i) One - o (i) Oneormore
(111) Two ormore - R (1v) Two

 Ina Bmomlal Dlstrrbutron, if p, q and nare probablhty of success, faxlure and

number of tnals respectlvely then variance is glven by _

@ w0 G opa
_}(111) npq o (1V) npq |
Ifthe assumed hypothesrs is tested for rejectlon cons1dermg ittobe true is called" B
() Nullhypothesis (i) Statistical hypothesis - .
(i) __Srmple hypothesrs ' (1v) Comp051te hypothers '
. .. Answer ALL Questlons - e
‘ ALL Questmns Carry EQUAL Marks - (5x3=15) |
What is data and what are its types‘? | S U
-~ OR

o 10_ a ‘. What 1s meant by samphng" What are its types?"

‘, Expand the terms 1) SPSS 11) SAS

erte the dlfferences between the Dragram and Graph

; _Deﬁne 1) Medran n) Mode.

, OR
: Dtscuss the term Kurt051s

) }Deﬁne correlatron and its types

OR

: ‘_".'Explam the methods of studymg regressmn

What is bmomlal dlstrlbutlon‘7 B
-‘ 7 -OR o
’ Wr1te the properttes of normal dlstrlbutlon ;|

OR

,> i COIvljt‘..}‘..



| o - 18BCP11 -
L T e e o - Cont...
o , SECTION -C (30 Marks) o ' S
4 ... . AnswerALLquestions - - ‘= . . >
' ALL questlons carry EQUAL Marks- o (5x6=30) -

L 11 a. Elaborate the data presentatron process. - _
‘ : . OR =~
b Elaborate the dlagrammatrc presentatron of data -

_~ 12 a. Calculate the medlan of from the followrng table

Marks R B Frequency

0-10 22 B E

20 ]

R 2030 . | 46 |
e [ 3040 | a4
o [Caeso a0

b ‘The followmg table grves the wages ‘of employees in two factorres In whlch, L

factory, there is greater variation in the distribution of wages per employee‘? :

v - Particulars = =~ - Factory A Factory B
: No. of Employees 50 - 1000
N Average wagepermonth | , 120 - - [ 85
b per worker T
| Variance of thewageper | .9 - | 16
- employee per month ' I

“ 13 a. A random sample of 5 college students is selected and the1r marks in molecular
blology and clinical blochemlstry are found to be L : !

‘Subjects. | 1 | 2 | 3 | '452 5

Molecular | 85 o ,’60 713 | 40 ) 90
" Biology | . R EE T I .
“Clinical | 93 * 75 1 65 |- 50 1. 80
Brochemrstry S I T - L

Calculate the Spearman s rank correlatron coefﬁcrent
" OR '

b From the followmg data of yreld of rice and wheat in 5 places ﬁnd out the two\ﬁ

' regressron equations, - _

| Rice(X) | 60 | 20 | 0 | 40 80 |-
s Wheat(Y) 9% | 60' .50 80 | 120

k 14 a. A bag contams 10 whrte 5 red and 20 black balls Two balls are drawn at random o
- Find the probabrhty that they are both black ' S -
‘b The we1ght of grape frurt from a large shrpment averages lOgms with a standard
deviation of 1. 5gms If these weights are normally distributed, what percent -of

- frappe frults do you expect to wergh between 12 to 14gms

15 a A sample of 100: 1nd1v1duals is drawn from a populatron whose mean is 162 and |
- Standard deviation is'4.16. The mean of the sample is 162.23. Does the sample
‘mean represent a significance divergence from the populatron mean. Explam

- OR -~

- b A random sample of size 10 had a mean 14.3 and standard dev1atron is 1.44. Test» P

- at the 5% level of srgmﬁcance that the mean of the populatlon p= 15 Fmd the .
,degrees of freedom o : ) , o

\



